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.Si)2

ACheck for improper integrals#2 Ot +2
- 1 = 0

+2= 1
I CX+D +==not in range
#-12= +

(1)2
A Or AXtP↳This puts you

Factorright back to Degree Multiplicitywhere you started (2-1)

Factor /Degree/Multiplicity(t + 1) ! l ?A B ( +
D(t - 1) /H-

NOT POSSIBLE FOR TESTB
1 = A(+ 1) (+ -112+B( -12+((+ - 1)(+ + 1) 2

+D( + 1)2 TOO LONG



17ofalways testfor U-Sub 1st

Sox easier to solve partial fraction
w/ constanton top

u=+2-1

I-=A +Bx=zen-1SOr (+ 1)(x- 1) x+ 1 x- 1 x=
- 1

4= A(X- 1) +B(x+ 1)
4= 2B 4= - 2A
B= 2 A=-2

zenk-1++ 0x ANOTHER WAY
FOR PARTIAL

3nkx-1l-2en(x+ 11 +22n= 11 + C FRACTIONS:

4= AX- A +BX+B
X : OX=Ax+BX
0=A+B

Ci 4= - A + B
4 + A= B

0= A+ 4+A
- 4 =2A A=-2



4 -2x =0 V=en(y -2x)
4=2x'en(4-2x)0x du=1
2=x 4-2x.

- 2

--I
= en(4 -2x)x-S xxzdx 2x

=2
en (4-2x V=X-2·x-

f2g x=u+2 Ov =dy
du= OX V= X

en(4-2x) . x-S +za
x en (4-2x) - u+2en(ul+ C
en(4-2x1 - X- (x-2) +2e)(x-2))+ C



25
.SFsin(3)(OS (5)dX
SintcosB=Esin(A +B) +Sin(A-B1)
·
S**in(3x +5x) + Sin(3x-Sx]dx

sin(8x) +Sint2x)dx

& (-(058Xt-COs)-2:]
To(0s8X+ #COS)-2x]

then plug in



F COS2+sin ?32
. (

*

CO+
2()00 CSC2 = CO+2+ 1

(Ot2 = (S)2 - (

-100 (0+(x)=(2x
- Co+ (E) . 2- o DONTNPROBLEMPAR
can chech by doing derivative shee

to use things you
don't think about



won't be dealing58
. Ssin(y)coon(x/dx with. not possible↑

hyperbolic for us todo

43 Stax could be set up but do not
dave for test

Factor Degm
S22+ OX Roots method

U=X2- 1 * integration by7. Sx(x = 1(312 OX du=2xdx parti only
-

wor w/20=0xS whole numbers
(0- 1)"2 = X

X-seco
=tandsectdo) ecs-113 tansecodo

S-secoltan12 tant secode
Santor 00 could be given
Scott = SCCS28-108 W/takex tobe sec

Audriana Pohlman
Partial Fractions

Audriana Pohlman
          

Audriana Pohlman
powers



3. Scossosingdo trig sub

S105t - cos28. Sinsdo
U=SinoScore . (l-sin20)Sindo du= losdO

Score . (sin80-sin'otdo

Surrog
+(i
At most would see (sin(cos20)
probably MC problem
4Sxe-x Integration by parts
U= X du= e

- 12x

du=0x V=e - 12x

UV-Svou

(4)(ize-) - Size - 128x
if definite integral-

=12x + ESe -2x0x pug in atthe
e+2+-e

+2x
+C

Audriana Pohlman
for even powers


